Manuals+ — User Manuals Simplified.

ERHEUL
2002-2012 \ \
Roof Side Rails B
Rack and m|

Cross Bars ——r %' ﬁ e

ERKUL 2002-2012 Roof Side Rails Rack and Cross Bars
Instruction Manual

Home » ERKUL » ERKUL 2002-2012 Roof Side Rails Rack and Cross Bars Instruction Manual ™

Contents
1 ERKUL 2002-2012 Roof Side Rails Rack and Cross
Bars
2 Specifications
3 Instructions
4 FAQ
5 parts and tools
6 INSTALLATION INSTRUCTION
7 Additional Information
8 Documents / Resources
8.1 References
9 Related Posts

LRHUUL

ERKUL 2002-2012 Roof Side Rails Rack and Cross Bars


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/erkul
https://manuals.plus/erkul/2002-2012-roof-side-rails-rack-and-cross-bars-manual.pdf
https://manuals.plus/#erkul_2002-2012_roof_side_rails_rack_and_cross_bars
https://manuals.plus/#specifications
https://manuals.plus/#instructions
https://manuals.plus/#faq
https://manuals.plus/#parts_and_tools
https://manuals.plus/#installation_instruction
https://manuals.plus/#additional_information
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

Specifications

ltem Quantity
Yellow rectangular gaskets 2
Black plastic caps 6
M8 washers 6
M8x60 bolts (for front/rear) 4
M8x70 bolts (for middle) 2
Allen key 1

Instructions
Follow the steps below to install the Skyport Roof Rail on your Range Rover Vogue (2002-2012):

Rear

« Locate the rear mounting points on the roof of the vehicle.
« Remove the covers from the mounting points using the provided Allen key.

« Place the roof rail onto the mounting points and secure it with the M8x60 bolts.

Middle

« Locate the middle mounting points on the roof of the vehicle.



« Remove the covers from the mounting points using the provided Allen key.

« Place the roof rail onto the mounting points and secure it with the M8x70 bolts.

Front

« Locate the front mounting points on the roof of the vehicle.
« Remove the covers from the mounting points using the provided Allen key.

« Place the roof rail onto the mounting points and secure it with the M8x60 bolts.

Certifications

ISO 9001

« UKAS Management Systems
« IAF

o |ATF 16949

FAQ

« Q: How many bolts are provided for the front and rear mounting points?

o A: There are 4 M8x60 bolts provided for the front and rear mounting points.
¢ Q: How many bolts are provided for the middle mounting points?

¢ A: There are 2 M8x70 bolts provided for the middle mounting points.

« Q: What tools are needed for the installation?

o A: An Allen key is provided for the installation.

¢ Q: Are there any washers included in the package?

¢ A: Yes, there are 6 M8 washers included in the package.

parts and tools



)

(x2)

M8x60 (x4)
for front / for rear

RANGE ROVER VOGUE 2002-2012 SKYPORT ROOF RAIL

[ i eon AN Ao
 JFyensaspomean - A
£OTTaTION T

INSTALLATION INSTRUCTION

Additional Information



For more details, scan the QR code provided in the instruction manual.

Documents / Resources

—
—

ERKUL 2002-2012 Roof Side Rails Rack and Cross Bars [pdf] Instruction Manual
2002-2012, 2002-2012 Roof Side Rails Rack and Cross Bars, Roof Side Rails Rack and Cross
Bars, Rails Rack and Cross Bars, Rack and Cross Bars, Cross Bars, Bars

References

» User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/9a068ebe683e5ebe86a298fa7c803643d1a708be9e07257c8bfdd8b4ba1f9db0
https://manuals.plus/m/9a068ebe683e5ebe86a298fa7c803643d1a708be9e07257c8bfdd8b4ba1f9db0_optim.pdf
https://manual.tools/?p=14154709#MTA0LjI4LjIzNC4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	ERKUL 2002-2012 Roof Side Rails Rack and Cross Bars Instruction Manual
	ERKUL 2002-2012 Roof Side Rails Rack and Cross Bars
	Specifications
	Instructions
	FAQ
	parts and tools
	INSTALLATION INSTRUCTION
	Additional Information
	Documents / Resources
	References



